A & ol & AF & Ml A
20228 =20& AZ2=00I=
g 200 Mel+=¢
2 210 ZHEAA+Y
g 216 Ol A== (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
= Al 1,791,170 1,834,023 N 42,853
200 M2l +=¢ 16,500 16,500 0
210 & HAN 2= 500 500 0
216 Ol Xt==¢ 500 500 0
216-01 33030l K== 500 500 0
< Fg=sX > 500 500 0
OZ3U 30Xt 500,000 500
220 SAIH A2l == 16,000 16,000 0
224 JIEt=¢ 16,000 16,000 0
224-07 12 =+¢ 16,000 16,000 0
< FUSXW > 16,000 16,000 0
O=S20ME=L(RL0IS= I SHIFA &) 16,000,000 16,000
500 EX= 275,298 271,387 3,911
510 = DEX3S 234,947 233,423 1,524
511 =108x=38 234,947 233,423 1,524
511-01 =12xX3 234,947 233,423 1,524
< FUSX Y > 234,947 233,423 1,524
Ofzs0 dFHH 24,830,000 24,830
Ofzs0 Ualt WXss € =URY &= 107,677,000 107,677
O&FOMEXIID 2l 45,426,000 45,426
Odzzs0=2 A 22l (el2d]) 57,014,000 57,014
520 Al - SHIEEXZ=S 40,351 37,964 2,387
521 Al - EHIEZS S 40,351 37,964 2,387
521-01 Al - EHIEX =SS 40,351 37,964 2,387
< FUFX D > 40,351 37,964 2,387
O2zs0 &I 6,207,000 6,207
O2z=0 ol WXz & =URY == 17,497,000 17,497
OFOMIEEIIIl S04l 7,382,000 7,382
O9=20i=3 X 2aldl(elr2tl) 9,265,000 9,265
700 EX =AU SHUENH 1,499,372 1,546,136 N46,764
720 LH 2 H ch 1,499,372 1,546,136 A46,764
721 dY= 1,499,372 1,546,136 N46,764
721-03 JIEtSI H A Y = 1,499,372 1,546,136 N46,764
< FUFX D > 1,499,372 1,546,136 N46,764
@)= -13-1 [FSRAR= 1,483,772




o700 BRAUSUHR I
2: 720 LIS o
8 721 MY (S5 & 9)
T.o@-g-2 Ol & 24 =0 ko HIDZ 2t
~UXZS2 £ 2URES #8232 AHIRE2 9,422,000 9,422
— DA JoiHl AHIRES 3,975,000 3,975
—o230 W2l AEIRES 1,461,375,000 1,461,375
—AYMBINY AHI2LS 3,786,000 3,786
—YUSMTBY S ANEIRES 225,000 225
— B Z0IB2IA QA AlHIRE S 4,989,000 4,989
ORINH% ABZOIB2IA YBLY 4,800,000 4,800
ORINHE ABZ0IB2IA JIEHSY 6,840,000 6,840
ORI AZJ 01BN HE+Y 2,880,000 2,880
ORINHE ABZ0IB2AA H24E 1,080,000 1,080




